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TRIGONOMETRIC VALUES OF SPECIAL ANGLES REFERENCE ANGLE RULES
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SUMMARY OF INVERSE TRIGONOMETRIC FUNCTION
Function Domain Range
y=sin"x [L1] [an2.a22]
— arcsinx. Wherex = siny

=cos’x [r1] [o.n]

= arccosx, where x = cosy

=tan”'x (=n.2)  (~7/2,7/2)
= arctan x, where x = tan y





image7.png




image8.png




image1.png
Forms for the Equation of a Line

Slope-Intercept

y=mx+b

m is the slope
b is the y-intercept

Point-Slope

m is the slope
(x,.3,) is a point on the line

Standard Form

a is positive

Intercept Form

ais the x-intercept
b is the y-intercept

Vertical

Vertical line with a as the
Xx-intercept

Horizontal

Horizontal line with b as
the y-intercept

Two non-vertical lines with slopes
m,and m, are:

Parallel
if the lines have the same slope,
my=m,.

Perpendicular
if the slopes are negative reciprocals,

1
my=——
m

or equivalently, if m, -m, =-1.
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Function Notation Type of Transformation Change to Coordinate Point

f(x) +d Vertical translation up d units (x,y) > (x,y+d)

f(x)-d Vertical translation down d units (x,y) > (x,y-d)

f(x+c) Horizontal translation left c units (x,y) > (x-c,y)

f(x-c) Horizontal translation right c units (x,y) > (x+c,y)

—f(x) Reflection over x-axis (x,y) > (x, -y)

f(-x) Reflection over y-axis (x,y) > (-x,y)

Vertical stretch for |a|> 1
af(x)

X, y) = (x, a
Vertical compression for0 < |a| <1 bo¥) > b 2y)

Horizontal compression for |b| > 1

f(bx)

(x.») %[%\]

Horizontal stretch for0 < |b| <1





